Stoichiometry Class Work

Part 1: Moles > Moles & Grams - Moles

1. According to the equation: N, + 3H; > 2NH,, how many moles of ammonia will be
produced if 14.0 mol of hydrogen react with excess nitrogen?
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2. How many moles of sodium will react with water to produce 8.0 mol of hydrogen in the
following reaction? 2Na + 2H,0 > 2NaOH + H,
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3. How many mole of lithium chloride will be formed by the reaction of chiorine with 3.60
mol of lithium bromide in the following reaction?
2Li8r + Cl; > 2LIiCl + Br,
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4. How many moles of CO, and H,0O are formed from 7.26 mol of propane? C,H,+ 50, 2
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5. What mass of potassium chiorate is needed to produce 8.50 mol of oxygen? 2KCIO, >
2KCI + 30,
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6. According to the equation: N, + 3H; = 2NH,, how many Qirams of ammonia will be
produced if 14.0 mol of hydrogen react with excess nitrogen?
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7. How many grams of sodium will react with water to produce 8,0 mol of hydrogen in the
following reaction? 2Na + 2H,0 > 2NaOH + H,
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8. How many mole of lithium chioride will be formed by the reaction of chlorine with 36.0
grams of lithium bromide in the following reaction?

2LiBr + Cl, > 2LC! + Br
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9. How many grams of CO; and H;O are formed from 7.26 mol of propane?
C,Hs+ 50, =2 3CO, + 4H,0
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8.50 mol of oxygen? 2KclO;

40. What mass of potassium chlorate is needed to produce

2KCY + 30;
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Part 2: grams - grams and all other two step stoichiometry

1. Write the balanced equation for the reaction of lithiurm and fluorine.
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a. Calculate the mass of lithium required to produce 59.5 g of lithium fluoride. -
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b. How manygrams of lithium fluoride can be produce
0.00F] ' otk | 2 molb \\336’”' éﬂ:'f— -00d.tq b F
v

lssnoeah l | wolfa [ wollF

2 Write the balancekd equation for the reaction of Calcium with gold (f) bromide.
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a. How many grams of calcium are required to produce 200.0 g of gold?

300.03/40 ) molbo |1 mol Ca | U008 g Co ao.393fa
I 114,97 Qﬁu I molhe I | milta

b. How many Yrams of calcium bromide can be produced when 350.0 of goid (I}

bromide react?
ssamAg] !l ol | ! moiloda l'}"“ﬁ q(a, @
“&() \ le&gt; —

| 376,87 2 ol AdBr

rite the balanced reaction for the ombustion of propane (CsHe).

CaHg +50a —3(05 ¥ya-0

a. Calculate the mass of each product produced when 180.0 g of propane react.
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b. How many liters of oxygen are re uired to react with 98.0 g of propane’ ;
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